
























 

                                   2017. 秋 

 
 12  生物と生態（１） 

 
１． 地球規模のリンの循環に関する以下の問に答えよ． 

（１） リンが生物にとって重要な元素である理由を３つ述べよ． 

（２） リン鉱石のグアノの生成過程を説明せよ． 

（３） リンの循環を説明した次の文章中の  a  〜  e   に適切な語句を

記せ．解答は日本語でも英語でも良い． 

A “typical” phosphorus atom, released from the rock by chemical   a  , may enter 

and cycle within the terrestrial community for years, decades, or centuries before 

it is carried via the   b   in to stream. Within a short time of entering the stream 

(weeks, months, or years), the atom is carried to the ocean. It then makes, on 

average, about 100 round trips between surface and deep waters, each lasting 

perhaps 1000 years. During each trip, it is taken up by surface-dwelling   c  , 

before eventually settling into the deep again. On average, on its hundredth 

descent (after 10 million years in the ocean) it fails to be released as   d      

phosphorus, but instead enters the bottom sediment in particulate form. Perhaps 

100 million years later, the   e   floor is lifted up by geological activity to 

become dry land. Thus, our phosphorus atom will eventually find its way back to 

via a river to the sea, and to its existence of cycle (biotic uptake and 

decomposition) within cycle (ocean mixing) within cycle (continental uplift and 

erosion).       

出典：COLIN R. TOWNSEND ほか「ESSENTIALS OF ECOLOGY」Blackwell Science 

 

２． 個体群の動態に関する以下の問に答えよ． 

（１） 個体数N，時間 t，増加率γを用いて指数関数的増殖の微分方程式を書け． 

（２） （１）の N，t，γ，および環境収容力 K を用いて，ロジスティック増殖

の微分方程式を書け． 

（３） （１）および（２）の式を，t = 0のとき N＝N0として積分して解を求め

よ． 

（４） 横軸を個体数 N，縦軸 をとした平面で，γ戦略者(γ１，K１) 

および K 戦略者(γ２，K２)の概形を示せ． 

（５） γ 戦略者および K 戦略者のエネルギー分配（再生産，競争，捕食者から

の逃避など）の特徴を説明せよ． 
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